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K i 8 257 & 2ENE | 224R)E 204¢ 194 184
1 [depg %% T.T.T 56.0 28.0 28.0
2 |EBE kEH SREBTC 43.0 15.0 15.0 6.0 7.0
3 [Ak AR A-CUBE TC 42.0 2.0 36.0 4.0
4 |BE B Palette 39.5 28.0 6.0 4.0 1.5
5 &K hES HOP’S TA 39.0 15.0 2.0 6.0 6.0 10.0
6 |[HPE BE Palette 21.0 21.0
T |%F BE RIEBTC 16.0 2.0 6.0 6.0 2.0
N e A+CUBE TC 16.0 6.0 6.0 4.0
9 |#EH SA T.T.T 15.0 2.0 13.0
10 |F0 Hr A+CUBE TC 14.0 13.0 1.0
11 | B A-CUBE TC 11.0 8.0 3.0
12 )il Bk F—h MASA 9.0 6.0 1.5 0.5 1.0
13 [ZKR AE+ C’s RACQUET CLUB 8.5 - 0.5 3.0 5.0
Wy T HOP’S TA 8.5 1.5 1.5 1.0 3.0 1.5
15 [k BE HOP’S TA 8.0 8.0
16 (WM AET Palette 7.5 3.0 1.0 1.5 2.0
17 |8 Mt HOP’S TA 6.0 6.0
Bl 3% HOP’S TA 6.0 6.0
nE s v—F»YTC 6.0 6.0
20 |#&m &Bv A+CUBE TC 5.5 1.0 1.5 3.0
BHE T C’s RACQUET CLUB 5.0 5.0
22 | K#% %Y SREBTC 3.5 1.0 0.5 1.0 1.0
23 |[fRiR &BY LBT 3.0 1.0 1.0 1.0
B s HOP’S TA 3.0 3.0
25 |#H T Palette 2.5 1.5 1.0
MR MET HOP’S TA 2.5 0.5 1.0 1.0
Wi BT LBT 2.5 1.5 1.0




28 [HmE FIRL T Palette 2.0 2.0
B =4 A+CUBE TC 2.0 2.0
M etz HOP’S TA 2.0 2.0
+IF W% A+CUBE TC 2.0 1.0 1.0
PNz A-CUBE TC 2.0 2.0
b s F—5L MASA 2.0 2.0
B OET LBT 2.0 0.5 0.5 1.0
ht R BT LBT 2.0 2.0

36 (MR BT Palette 1.5 1.5
HEUAEIPS HOP’S TA 1.5 1.5
#B il T A+CUBE TC 1.5 1.5
e AR F=LTENVA 1.5 0.5 1.0
i #skliy- A-CUBE TC 1.5 0.5 1.0

41 |BkH 4 A+CUBE TC 1.0 1.0
Tty oy F=LTENVA 1.0 1.0
=k ¥ HOP’S TA 1.0 1.0
7® "I Palette 1.0 - 1.0
[Z{ S Palette 1.0 1.0
A BT Palette 1.0 1.0
ik % A-CUBE TC 1.0 1.0
Z Fk A-CUBE TC 1.0 1.0
(L)' TN 1.0 1.0
willl %A HOP’S TA 1.0 1.0
B T HOP’S TA 1.0 1.0
R Bk F—h MASA 1.0 1.0
wWH THET F—L MASA 1.0 1.0




54 (W &R A=)V 0.5 0.5
AEn fT ToT 0.5 0.5
M i HOP’S TA 0.5 0.5
thv) E81 F—4 MASA 0.5 0.5
& BT HOP’S TA 0.5 0.5
A Hipx LBT 0.5 0.5
mk HRT HOP’S TA 0.5 0.5
HH I Palette 0.5 0.5
i A LBT 0.5 0.5
Sl Hiy A-CUBE TC 0.5 0.5
BT HPH T.T.T 0.5 0.5
& P A-CUBE TC 0.5 0.5
BER RT F—-4 MASA 0.5 0.5
e i F—4 MASA 0.5 0.5




